



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

01/30/2025 09:00 AM | Semis Pickup In LA 02/02/2025 09:00 AM | Fly To Nola

02/03/2025 09:00 AM | Unload Semis / Start

scenic

02/04/2025 09:00 AM | Install Scenic &

Furniture

02/05/2025 09:00 AM | Install Cont

02/06/2025 10:00 AM | Touchups

02/07/2025 08:00 AM | Install Event #2

02/08/2025 09:00 AM | Install Continued

02/08/2025 11:58 PM | Turnover From Event

2 to Event 3

02/09/2025 11:00 AM | Touchups if needed

02/09/2025 10:00 PM | Strike & pack semis

02/10/2025 02:00 PM | Fly Back

02/14/2025 09:00 AM | Semi Arrive Back At

Warehouse

P0:

Shipping Address:

NOLA

233 Newton St,

New Orleans, LA 70114

114 000

Sequoia Productions 3000 S Robertson Blvd., Suite 270

Los Angeles, CA 90034

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total	
General						
	Accent Table - Aspen - Carved Wood 24"W x 24"W x 24"H	4	\$120.00	Т	\$480.00	
			Total General		\$480.00	
NFLPA VIP Part	ty - 2/6					
	Custom Chandelier 20'R pearlescent white paint for chandelier pvc, metal painted in black,	1	\$40,000.00	Т	\$40,000.00	
	Custom Flat Walls With Vinyl 34- 4'W x 10'H Flat panels, 8- 2'W x 10'H returns, L-brackets, sandbags, custom printed decal, 10' H moldings applied on site	1	\$30,000.00	Т	\$30,000.00	
	Oversize Props - London - Fireplace add faux logs inside fireplace, add molding on top to 2 sides to match the height - 2- 8'W x 6"H moldings painted same color as fire place 68"W x 24"D x 127"H Shelf Depth - 8" Mirror - 35" x 44"H	1	\$900.00	Т	\$900.00	
WW	Bars - Shanghai - Irregular 6' 6'W x 30"L x 41"H	2	\$800.00	T	\$1,600.00	
	Bars - Madrid - Moulding Dark Wood 8'5" 8'5"W x 2'7"L x 3'6"H	2	\$800.00	Т	\$1,600.00	
	Bars - Madrid - Molding Light Wood 8'5" 8'5"W x 2'7"L x 3'6"H	2	\$800.00	Т	\$1,600.00	

Description		Qtty	Price		Total
	Bars - Carmel - Curved 6' custom Burgundy channeled front, reclaimed wood top, placed together to create a square bar 6'W x 30"L X 42"H	4	\$2,000.00	Т	\$8,000.00
	Custom Additional - Bars - Communal Tables - Tokyo - 10' custom Burgundy channeled front, reclaimed wood top, placed together to create a square bar 10'W x 22"L x 42"H - Frame Color Upon Request	2	\$2,700.00	Т	\$5,400.00
	Bars - Carmel - Straight 5' custom Burgundy channeled front, reclaimed wood top, placed together to create a square bar 5'W x 30"L x 42"H - Front Options Upon Request	2	\$1,700.00	T	\$3,400.00
	Custom Additional - Bars - Carmel - Straight 5' custom Burgundy channeled front, reclaimed wood top, placed together to create a square bar (10) 5'W x 22"L x 42"H - (3) 5'W x 22"L x 38"H Frame Color Upon Request	2	\$2,700.00	Т	\$5,400.00
	Barbacks - Metal Arched - Multicolor painted gold high gloss 33"W x 12"d x 6'H	6	\$300.00	Т	\$1,800.00
	Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal painted gold high gloss 8'W x 18"L x 8'7"H - Frame Color Upon Request	6	\$330.00	Т	\$1,980.00
	Custom Folding DJ Booth 11'W x 4'D x 5'H custom burgundy channeled front and sides, no shelf, client to provide table	1	\$3,000.00	Т	\$3,000.00
	Sofas - Santa Barbara - custom Burgundy covers 8'W x 43.5"D x 28.5" Seat Height 20" Seat Depth 28" Custom Cover Upon Request	8	\$1,300.00	Т	\$10,400.00
	Booths - Round Channeled Champagne Velvet 2pc Set Booths - Round Channeled 2pc Set - Burgundy 6âM M 10"W3âM M 2"L3âM M 3"H	8	\$600.00	Т	\$4,800.00
	Sofas - Buenos Aires - 4pc Sectional Grey 4 of these have burgundy covers, only using 2 arms and 1 center for each, no chaise 10' 2" X 9' 6"	6	\$750.00	Т	\$4,500.00
	Custom Additional Covers For 2 Buenos Aires Sofas	2	\$1,200.00	Т	\$2,400.00
T	Dining Table - Tuscany - Dark Wood Round 66" 66"Diam X 30"H	8	\$450.00	T	\$3,600.00
7	Small Dining Tables - Manchester - Dark Wood 36âl Irnd x 30âl IH	6	\$300.00	T	\$1,800.00
	Coffee Tables - Manchester- Round Wood 54" Diam x 20"H	1	\$220.00	T	\$220.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - Budapest - Vanity Chair Burgundy Velvet & Fringe 26"W x 25"L x 28"H	6	\$200.00	Т	\$1,200.00
	Club & Lounge Chairs - Lyon - Vanity Chair Burgundy With Fringe burgundy 26"W x 25"L x 28"H	6	\$150.00	Т	\$900.00
	Accent Tables - Hammered Metal - Black 15"Diam x 22"H	6	\$180.00	Т	\$1,080.00
	Ottomans - Standard Pod Ottoman Cover - Burgandy suede with no piping	20	\$65.00	Т	\$1,300.00
	18"RND x 17"H - Cover Color Upon Request				
	Accent Pillows - Burgundy	40	\$65.00	Т	\$2,600.00
	Area Rugs - Red 7'10"W x 11'H	1	\$220.00	Т	\$220.00
		Total N	FLPA VIP Party - :	2/6	\$139,700.00
		1014111			
The Trust Locke	r Room Lounge - 2/8	Total III	<u> </u>		
The Trust Locke	Custom Center Chandelier decor 24' x 24' printed fabric graphic, 4- 24' x 2'H wood valance with fabric print wrapped, chain curtain in	1	\$18,000.00	Т	\$18,000.00
The Trust Locke	Custom Center Chandelier decor 24' x 24' printed fabric graphic,			T	\$18,000.00
The Trust Locke	Custom Center Chandelier decor 24' x 24' printed fabric graphic, 4- 24' x 2'H wood valance with fabric print wrapped, chain curtain in gold, Custom Barbershop Entrance - 14'W x 12'H x 2'D 4- 10' x 4' santa barbara panels, custom 2'Hx 14'W extensions, custom	1	\$18,000.00		
The Trust Locke	Custom Center Chandelier decor 24' x 24' printed fabric graphic, 4- 24' x 2'H wood valance with fabric print wrapped, chain curtain in gold, Custom Barbershop Entrance - 14'W x 12'H x 2'D 4- 10' x 4' santa barbara panels, custom 2'Hx 14'W extensions, custom arch, custom laser cut letters, client to provide truss arch to attach to Custom Santa Barbara Panels 4'W x 10'H 24- 4'W x 10'H Flat panels, 4- 2'W x 10'H returns,	1	\$18,000.00	T	\$16,000.00
The Trust Locke	Custom Center Chandelier decor 24' x 24' printed fabric graphic, 4- 24' x 2'H wood valance with fabric print wrapped, chain curtain in gold, Custom Barbershop Entrance - 14'W x 12'H x 2'D 4- 10' x 4' santa barbara panels, custom 2'Hx 14'W extensions, custom arch, custom laser cut letters, client to provide truss arch to attach to Custom Santa Barbara Panels 4'W x 10'H 24- 4'W x 10'H Flat panels, 4- 2'W x 10'H Flat panels, L-brackets, sandbags, custom printed decal, Barback - Curved Alcoves W/ Shelves - 3 Arches front painted in metallic gold, insert has vinyl print,	1 1	\$18,000.00 \$16,000.00 \$19,000.00	T	\$16,000.00 \$19,000.00
The Trust Locke	Custom Center Chandelier decor 24' x 24' printed fabric graphic, 4- 24' x 2'H wood valance with fabric print wrapped, chain curtain in gold, Custom Barbershop Entrance - 14'W x 12'H x 2'D 4- 10' x 4' santa barbara panels, custom 2'Hx 14'W extensions, custom arch, custom laser cut letters, client to provide truss arch to attach to Custom Santa Barbara Panels 4'W x 10'H 24- 4'W x 10'H Flat panels, 4- 2'W x 10'H returns, L-brackets, sandbags, custom printed decal, Barback - Curved Alcoves W/ Shelves - 3 Arches front painted in metallic gold, insert has vinyl print, 22'W x 18"L x 10'H NEW Sconces	1 1 2	\$18,000.00 \$16,000.00 \$19,000.00 \$5,500.00	T	\$16,000.00 \$19,000.00 \$11,000.00

Description		Qtty	Price		Total
	Bars - London - W/ Framed Mirror Wood 6' bar & molding painted high gloss black 74" 1/2 W x 31"L x 46"1/4 H - Color Upon Request	1	\$950.00	T	\$950.00
	Custom Folding DJ Booth 11'W x 4'D x 5'H custom emerald green channeled front and sides, no shelf, client to provide table	1	\$3,000.00	Т	\$3,000.00
-	Top Hats - Monaco - Black Velvet client will place tree in the middle 8' Diam	1	\$650.00	Т	\$650.00
	Communal Tables - Dubai - Rose Gold 96"W x 24"L x 42"H	8	\$250.00	T	\$2,000.00
**	Stand Up Tables - Dubai - Irregular Rose Gold 28"Diam x 41"H	8	\$180.00	Т	\$1,440.00
M.	Sofas - Frankfurt - Black With Brass Frame	6	\$500.00	T	\$3,000.00
	Booths - Nice - Black Velvet 3pc Set 10'W x 24"L x 60"H	4	\$650.00	Т	\$2,600.00
	Sofas - Vancouver - Black Leather W/ Tufted Base 88"W x 38"L x 33"H	2	\$400.00	T	\$800.00
	Club & Lounge Chairs - Vancouver - Club Chair Black Leather 41"W x 36"L x 33"H	4	\$200.00	Т	\$800.00
	Ottomans - Hollywood - Emerald Green W/ Brass Base 16"Diam x 18"H	12	\$35.00	T	\$420.00
	Accent Table - St. Tropez - Large Faux Marble Kidney	8	\$150.00	T	\$1,200.00
	Total The	Trust Locker	Room Lounge -	2/8	\$94,380.00
Misc:					
	Sequoia Boxes With Mirrors	7	\$0.00	Т	\$0.00
	Sequoia Boxes with Cabinets	7	\$0.00	Т	\$0.00
		Total Misc:		isc:	\$0.00
Services		_	4		A = ·
	Feb 2nd: Travel to NOLA	6	\$500.00		\$3,000.00

Description		Qtty	Price	Total
	Feb 3rd: Unload Semis & Install	6	\$650.00	\$3,900.00
	Feb 4th: Continued Install	6	\$600.00	\$3,600.00
	Feb 5th: Install	6	\$600.00	\$3,600.00
	Feb 6th: Touchups	6	\$500.00	\$3,000.00
	Feb 7th: Install Event #2	6	\$650.00	\$3,900.00
	Feb 8th: Continued Install + Overnight Flip	6	\$750.00	\$4,500.00
	Feb 9th: Morning touchups + Overnight Strike	6	\$800.00	\$4,800.00
	Feb 10th: Travel To LA	6	\$500.00	\$3,000.00
	Roundtrip Flights price is estimated pending cost of booking	6	\$1,300.00	\$7,800.00
	Van Rental + Gas price is estimated pending cost of booking	2	\$2,500.00	\$5,000.00
	Hotel Room: 8 nights, 3 rooms provided by client	3	\$0.00	\$0.00
	Per Diems For Crew - 9 days	6	\$680.00	\$4,080.00
	Semi Trucks - 53'	3	\$14,000.00	\$42,000.00
Please make ch	ecks payable to Revelry, Inc.		Total Products:	\$234,560.00
			bor/Services/Misc:	\$92,180.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it			ear & Tear (4.00%):	\$9,382.40
			Packing (2.00%):	\$4,691.20
Notes	lotes		Taxes:	\$22,283.20
			Discounts:	(\$0.00)
			Total:	\$363,096.80
			Payments:	(\$100,000.00)

\$263,096.80

Balance: